The Ciakal Wellhaad Zystams Sathois™ ' "

-
s — e
R
b —
S
e i
e
R
e,
ki e
es—
i
Lot
i -

2-3/8" 8rd EUE X 1-1/8" 1,500PSI

Double Packed Stuffing Box Complete

P/N: 0149-0238-125

CUSTOMER:

PREPARED BY: Joe.H PROJECT No.

QUQOTE No.

PROJECT NAME:

APPROVED BY: DATE:5/4/2022

SHEET:T




ITEM NO. | PART NUMBER DESCRIPTION QTY.
1 0148-2002-125 1-1/8" Teflon Cone Packing, Top Cone )
2 0148-1002-125 1-1/8" Teflon Cone Packing, Bottom Cone 2
3 0149-0238-001 2-3/8" 8rd EUE Double Packed Stuffing Box Base 1
4 0150-0000-150 Double Packed Stuffing Box Compression Ring 1
5 0148-0000-111 Double Packed Stuffing Box Body Assembled 1
6 0149-0000-430 -430 O-Ring 1
7 0165-0000-004 5/8" Plain Finish Grade 8 LW 6
8 0149-0001-058 5/8"-11 Hex Nut, ZN 10
9 0149-0225-001 5/8"-11 X 2-1/4 Hex Cap Bolt, Grade 8 6
10 0142-0000-001 Cone Stuffing Box Lower Gland Body 1
11 0145-0000-00T Cone Stuffing Box Upper Gland 1-1/8" - 1-1/2" 1
12 0147-0000-001 Cone Stuffing Box Upper Gland Cap, 1-1/8"-1-1/2" 1
13 0149-0380-038 3/8" Int./Ext. Lock Washer 2
14 0147-0002-025 3/8"-16 x 2-1/4" Hex Cap Bolt 2
15 0149-0002-038 3/8"-16 Square Nut 2
16 0149-0625-062 5/8" SAE Flat Washer, ZN 4
17 0149-0002-058 5/8"-11 Square Nut, ZN 4
18 0149-0400-058 5/8"-11 X 4" Tap Bolt, ZN 2
19 0149-0055-058 5/8"-11 X 5-1/2" Tap Bolt, ZN 2
© 0
= @
(19)
()
(19
(9)
(19
O
O
O ()
(5 (s)
@ (&)
& o
The Ciokal wellhead Systams buthor™ i w 5 I
|
CUSTOMER: PREPARED BY: Joe.H PROJECT No. QUOTE No.
PROJECT NAME: APPROVED BY: DATE:5/4/2022 SHEET:2




	Sheet1
	Drawing View4
	Drawing View7

	Sheet2
	Drawing View6


